Interest tot

$$\frac{1}{4d_{0}} \cot p abbens (ast^{d})$$

$$\frac{1}{4d_{0}} a a abbens (ast^{d}) = a_{0}g^{0} + a_{1}g^{0} + a_{2}g$$

$$\frac{1}{2} babens (a abbens (ast^{d}) = a_{0}g^{0} + a_{1}g^{0} + b_{2}g$$

$$\frac{1}{2} babens (a abbens (bst^{d}) = a_{0}g^{0} + a_{1}g^{0} + b_{2}g$$

$$\frac{1}{2} babens (bst^{d}) = \frac{1}{4d_{0}} (ba_{0}) = a_{0}g^{0} + b_{1}g^{0} + b_{2}g$$

$$\frac{1}{2} babens (bst^{d}) = \frac{1}{4d_{0}} (ba_{0}) = a_{0}g^{0} + b_{1}g^{0} + b_{2}g$$

$$\frac{1}{2} abbens (bst^{d}) = \frac{1}{4d_{0}} (ba_{0}) = a_{0}g^{0} + b_{1}g^{0} + b_{2}g$$

$$\frac{1}{4} abp (\int \frac{a_{1}(t)}{a_{0}(t)}) (\frac{-1}{c_{0}})c_{0}(s) + \frac{1}{c_{0}} exp (\int \frac{a_{1}(t)}{a_{0}(t)}) a_{0}^{1}$$

$$\frac{1}{2} a_{0} (\int \frac{a_{1}(t)}{a_{0}(t)}) (\frac{-1}{c_{0}})c_{0}(s) + \frac{1}{c_{0}} exp (\int \frac{a_{1}(t)}{a_{0}(t)}) a_{0}^{1}$$

$$\frac{1}{2} a_{0} (\int \frac{a_{1}(t)}{a_{0}(t)}) (\frac{-1}{c_{0}})c_{0}(s) + \frac{1}{c_{0}} exp (\int \frac{a_{1}(t)}{a_{0}(t)}) a_{0}^{1}$$

$$\frac{1}{2} a_{0} (\int \frac{a_{1}(t)}{a_{0}(t)} dt) - \frac{a_{1}(s)}{c_{0}(t)} exp (\int \frac{a_{1}(t)}{a_{0}(t)}) dt$$

$$\frac{1}{2} a_{0} exp (\int \frac{a_{1}(t)}{a_{0}(t)} dt) + \frac{a_{1}^{1}}{a_{0}} exp (\int \frac{a_{1}(t)}{a_{0}(t)}) dt$$

$$\frac{1}{2} a_{1} exp (\int \frac{a_{1}(t)}{a_{0}(t)} dt) - \frac{a_{1}(s)}{c_{0}(t)} exp (\int \frac{a_{1}(t)}{a_{0}(t)}) dt$$

$$\frac{1}{2} a_{1}h = b_{1}$$

$$\frac{1}{4} (ba_{1}h) = b_{0}g^{0} + b_{1}g^{1} + b_{2}g = b_{0}g^{0} + b_{0}^{1}g^{1} + b_{2}g$$

$$\frac{1}{2} a_{1}(ba_{1}h) + b_{2}a_{1},$$

$$\frac{1}{a_{0}}(ba_{1}h) + b_{1}g^{0} + b_{2}a_{1},$$

$$\frac{1}{a_{0}}(ba_{1}h) + b_{2}a_{1},$$

$$\frac{1}{a_{0}}(ba_{1}h) + b_{2}a_{1},$$

$$\frac{1}{a_{0}}(ba_{1}h) + b_{1}a_{1}h + b_{2}a_{1}h + b_{2}a_{1}h$$

Lagrango's identify

$$Z \perp (\eta) - \eta \perp^{*} (\chi) = \frac{d}{d\eta} \left(\Delta_{0}(\eta' \chi - \chi \eta') + (\alpha_{1} - \alpha_{0})\eta \chi \right) + (\alpha_{1} - \alpha_{0})\eta \chi \right)$$
Green's identify

$$\int_{\alpha}^{b} (\chi \perp (\eta) - \eta \perp^{*} (\chi)) dn = - \alpha_{0} (\eta' \chi - \chi \eta') + (\alpha_{1} - \alpha_{0})\eta \chi \Big|_{\eta = \alpha}^{\eta = b}$$
Remote If \perp is get - adjoint

$$\int_{\alpha}^{b} (\chi \perp (\eta) - \eta \perp^{*} (\chi)) dn = - \alpha_{0} (\eta' \chi - \chi \eta') \Big|_{\eta = \alpha}^{\eta = b}$$